7 Electrical Parts List

7 Electrical Parts List

-You can search for updated part codes through ITSELF web site.
URL : http://itself.sec.samsung.co.kr/

7-1 Main PCB Parts

Level Loc. No. Code No. Description & Specification : SA/ISNA
0 LS17GSEKS/EDC 720NA,SGJ3/S17AJ-LGS,17,LCD-MO,NETHERLAN 0 SA
.2 M0014 BN94-00642E ASSY PCB MAIN;GS17ES 1 SNA
.3 T0245 0202-001366 SOLDER-WIRE FLUX;-,RS60S,D1.2,63Sn/37Pb, 25 SNA
.3 CN101 3701-001219 CONNECTOR-DSUB;15P,3R,FEMALE, ANGLE, AUF 1 SA
.3 CN906 3711-004349 CONNECTOR-HEADER;BOX,3P,1R,2MM,STRAIGHT, 1 SA
.3 CN906 3711-004712 CONNECTOR-HEADER;BOX,9P,1R,2mm,STRAIGHT, 1 SA
.3 M0081 6003-000117 SCREW-TAPTITE;BH,+,B,M3,L6,ZPC(YEL),SWRC 5 SNA
.3 M0081 6003-000117 SCREW-TAPTITE;BH,+,B,M3,L6,ZPC(YEL),SWRC 2 SNA
.3 T0174 BN97-00488E ASSY SMD;GS17ES 1 SNA
! D101 0401-001056 DIODE-SWITCHING;MMBD4148SE,100V,200MA,SO 1 SA
] D103 0401-001056 DIODE-SWITCHING;MMBD4148SE,100V,200MA,SO 1 SA
4 D105 0401-001056 DIODE-SWITCHING;MMBD4148SE,100V,200MA,SO 1 SA
! D600 0402-001614 DIODE-RECTIFIER;S1G,400V,1.0A,D0-214AC,T 1 SA
] ZD100 0403-001411 DIODE-ZENER;-,5.49-5.73V,200MW,SOD-323,T 1 SA
A ZD101 0403-001411 DIODE-ZENER;-,5.49-5.73V,200MW,SOD-323,T 1 SA
) ZD102 0403-001411 DIODE-ZENER;-,5.49-5.73V,200MW,SOD-323,T 1 SA
] ZD103 0403-001411 DIODE-ZENER;-,5.49-5.73V,200MW,SOD-323,T 1 SA
! ZD104 0403-001411 DIODE-ZENER;-,5.49-5.73V,200MW,SOD-323,T 1 SA
] ZD105 0403-001411 DIODE-ZENER;-,5.49-5.73V,200MW,SOD-323,T 1 SA
4 ZD200 0403-001411 DIODE-ZENER;-,5.49-5.73V,200MW,SOD-323,T 1 SA
! ZD201 0403-001411 DIODE-ZENER;-,5.49-5.73V,200MW,SOD-323,T 1 SA
] IC106 0406-001061 DIODE-TVS;MMQA5V6T3,5.32/5.6/5.88V,24W,S 1 SA
A Q600 0501-002080 TR-SMALL SIGNAL;2SC2412K,NPN,200mW,SC-59 1 SA
) Q601 0501-002080 TR-SMALL SIGNAL;2SC2412K,NPN,200mW,SC-59 1 SA
) Q409 0505-001772 FET-SILICON;FDS9933A,P,-20V,-3.8A,0.0750 1 SA
! IC112 1103-001023 IC-EEPROM;24C08,1Kx8,SOP,8P,5x4mm,2.5/5. 1 SA
] R200 2007-000070 R-CHIP;00hm,5%,1/10W,TP,1608 1 SA
4 R227 2007-000070 R-CHIP;00hm,5%,1/10W,TP,1608 1 SA
! R220 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
] R223 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R224 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
) R225 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
] R226 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
! R228 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
] R229 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
) R230 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
! R231 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
] R232 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R234 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
) R235 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
] R236 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
! R237 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
] R239 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
) R240 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
) R242 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
] R243 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R247 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
) R221 2007-000077 R-CHIP;4700hm,5%,1/10W,TP,1608 1 SA
] R124 2007-000078 R-CHIP;1Kohm,5%,1/10W,TP,1608 1 SA
! R402 2007-000078 R-CHIP;1Kohm,5%,1/10W,TP,1608 1 SA
] R233 2007-000083 R-CHIP;3Kohm,5%,1/10W,TP,1608 1 SA
4 R122 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
! R204 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
] R205 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R206 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
b R207 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
] R208 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
! R209 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA




7 Electrical Parts List

Level Loc. No. Code No. Description & Specification SA/SNA
LA R210 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R211 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
LA R212 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R215 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R216 2007-000084 R-CHIP;4.7Kohm,5%,1/10W, TP,1608 1 SA
A R217 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R219 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R238 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
LA R603 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R123 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
LA R202 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
b R203 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R213 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
LA R214 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R222 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R244 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
b R400 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R401 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R600 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R604 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R605 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R601 2007-000092 R-CHIP;15Kohm,5%,1/10W,TP,1608 1 SA
A R602 2007-000102 R-CHIP;100Kohm,5%,1/10W,TP,1608 1 SA
A R134 2007-000113 R-CHIP;330hm,5%,1/10W,TP,1608 1 SA
b R135 2007-000113 R-CHIP;330hm,5%,1/10W,TP,1608 1 SA
A R136 2007-000113 R-CHIP;330hm,5%,1/10W,TP,1608 1 SA
LA R137 2007-000113 R-CHIP;330hm,5%,1/10W,TP,1608 1 SA
b R138 2007-000113 R-CHIP;330hm,5%,1/10W,TP,1608 1 SA
A R139 2007-000113 R-CHIP;330hm,5%,1/10W,TP,1608 1 SA
LA R106 2007-000821 R-CHIP;3900hm, 1%,1/10W,TP,1608 1 SA
A R403 2007-000821 R-CHIP;3900hm,1%,1/10W,TP,1608 1 SA
A R107 2007-001164 R-CHIP;750hm,1%,1/10W,TP,1608 1 SA
LA R108 2007-001164 R-CHIP;750hm,1%,1/10W,TP,1608 1 SA
A R109 2007-001164 R-CHIP;750hm,1%,1/10W,TP,1608 1 SA
LA R118 2007-001164 R-CHIP;750hm,1%,1/10W,TP,1608 1 SA
b R120 2007-001164 R-CHIP;750hm,1%,1/10W,TP,1608 1 SA
A R140 2007-001164 R-CHIP;750hm, 1%, 1/10W,TP,1608 1 SA
LA R141 2007-001164 R-CHIP;750hm,1%,1/10W,TP,1608 1 SA
A R142 2007-001164 R-CHIP;750hm,1%,1/10W,TP,1608 1 SA
A R143 2007-001164 R-CHIP;750hm,1%,1/10W,TP,1608 1 SA
LA R144 2007-001164 R-CHIP;750hm,1%,1/10W,TP,1608 1 SA
A R145 2007-001164 R-CHIP;750hm,1%,1/10W,TP,1608 1 SA
LA C224 2203-000189 C-CER,CHIP;100nF,+80-20%,25V,Y5V,TP,1608 1 SA
A €602 2203-000189 C-CER,CHIP;100nF,+80-20%,25V,Y5V,TP,1608 1 SA
A C116 2203-000236 C-CER,CHIP;0.1nF,5%,50V,C0G, 1608 1 SA
A C106 2203-000257 C-CER,CHIP;10nF,10%,50V,X7R,1608 1 SA
A c221 2203-000257 C-CER,CHIP;10nF,10%,50V,X7R,1608 1 SA
A C222 2203-000257 C-CER,CHIP;10nF,10%,50V,X7R,1608 1 SA
LA ca17 2203-000257 C-CER,CHIP;10nF,10%,50V,X7R,1608 1 SA
A C204 2203-000426 C-CER,CHIP;0.018NF,5%,50V,C0G,TP,1608 1 SA
A C416 2203-000426 C-CER,CHIP;0.018NF,5%,50V,C0G, TP,1608 1 SA
A C418 2203-000426 C-CER,CHIP;0.018NF,5%,50V,C0G,TP,1608 1 SA
A cl17 2203-000998 C-CER,CHIP;0.047NF,5%,50V,C0G, TP,1608 1 SA
LA C100 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A c1o1 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C102 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
b C103 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C104 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
LA C105 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C110 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A Cl112 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A Cl14 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C200 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A €203 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
LA C220 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C400 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
LA C402 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA




7 Electrical Parts List

Level Loc. No. Code No. Description & Specification SAISNA
LA C403 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A C404 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A C405 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
b C406 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A c407 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
LA C408 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
LA C409 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A C410 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
LA ca11 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A C412 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
LA C413 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
LA Ca14 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A C415 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
LA C419 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A C420 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A ca21 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
LA C423 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A C424 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A C604 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
b C605 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A €608 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
LA C610 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A C206 2203-005065 C-CER,CHIP;1000nF,+80-20%,10V,Y5V,1608 1 SA
A €600 2203-005065 C-CER,CHIP;1000nF,+80-20%,10V,Y5V,1608 1 SA
LA C603 2203-005065 C-CER,CHIP;1000nF,+80-20%,10V,Y5V,1608 1 SA
A C606 2203-005065 C-CER,CHIP;1000nF,+80-20%,10V,Y5V,1608 1 SA
A c201 2203-005437 C-CER,CHIP;10000nF,+80-20%,10V,Y5V,TP,32 1 SA
LA C205 2203-005437 C-CER,CHIP;10000nF,+80-20%,10V,Y5V,TP,32 1 SA
A C422 2402-000108 C-AL,SMD;10uF,20%,16V,WT,TP,4.3x4.3x5.4 1 SA
LA C607 2402-001042 C-AL,SMD;100uF,20%,16V,GP,TP,6.6x6.6x5.4 1 SA
A C609 2402-001042 C-AL,SMD;100uF,20%,16V,GP,TP,6.6x6.6x5.4 1 SA
A Cé11 2402-001042 C-AL,SMD;100uF,20%,16V,GP,TP,6.6x6.6x5.4 1 SA
LA C612 2402-001042 C-AL,SMD;100uF,20%,16V,GP,TP,6.6x6.6x5.4 1 SA
A C601 2402-001044 C-AL,SMD;100UF,20%,25V,GP,TP,8.3X8.3X6.3 1 SA
LA c401 2409-001051 C-ORGANIC;82UF,20%,6.3V,WT,TP,6.3*5.9MM, 1 SA
b T0052 2703-001334 INDUCTOR-SMD;1.5uH,10%,2012 1 SA
LA T0052 2703-001334 INDUCTOR-SMD;1.5uH,10%,2012 1 SA
LA T0052 2703-001334 INDUCTOR-SMD;1.5uH,10%,2012 1 SA
A X400 2801-003773 CRYSTAL-SMD;12MHZ,30PPM,28-AAN,20PF,500H 1 SA
A T0568 3301-000314 BEAD-SMD;1200hm, 1.6x0.8x0.8mm,150mA, , 4 1 SNA
LA T0568 3301-000314 BEAD-SMD;1200hm,1.6x0.8x0.8mm,150mA, ,, 4 1 SNA
A T0568 3301-000314 BEAD-SMD;1200hm, 1.6x0.8x0.8mm,150mA, ,, 4 1 SNA
A T0568 3301-001145 BEAD-SMD;600HM,4516,6000, TP,700HM/45MHZ, 1 SNA
b CN906 3711-005470 CONNECTOR-HEADER;BOX,30P,1R,1.25mm,SMD-A 1 SA
A CN906 3711-005543 CONNECTOR-HEADER;BOX,6P, 1R,1.25mm,SMD-A, 1 SA
LA T0077 BN41-00556A PCB MAIN;GY19ES,2,MP1.0,1.6T,236*177,GOY 1 SNA
A IC109 1003-001674 IC-LCD CONTROLLER;SE7889,PQFP,100P,23.45 1 SA
A 1C062 1203-003209 IC-MULTI REG.;APL5522,SOP,8P,4.9x3.9mm,P 1 SA
b R241 2007-000121 R-CHIP;8200hm,5%,1/10W,TP,1608 1 SA
LA M0018 BN97-00489G ASSY MICOM;GS17ES 1 SA
..... 5 1C520 0903-001347 IC-MICROCONTROLLER;NT68F63GL,8Bit,PLCC,4 1 SNA
A CIS5 0202-001375 SOLDER-CREAM;RMA-20-21L,S63,-,Sn63/Ph36. 0.52 SNA
1 M0112 BN91-00837C ASSY SHIELD;GS17ES 1 SNA
.2 M0081 6003-000117 SCREW-TAPTITE;BH,+,B,M3,L6,ZPC(YEL),SWRC 2 SNA
.2 M0081 6003-000117 SCREW-TAPTITE;BH,+,B,M3,L6,ZPC(YEL),SWRC 1 SNA
.2 M0114 BN39-00244A CBF SIGNAL;BU15A0(T541A),15P/15P,20276-N 1 SA
.2 M2893 BN39-00513A LEAD CONNECTOR;MJ17AS(BS),UL1571#30,UL/C 1 SA
.2 M2893 BN39-00585B LEAD CONNECTOR;GS17ES #28,UL1061#28,6P,2 1 SA
.2 Cls BN96-01855A ASSY BOARD P-ANION KIT;GS17ES,KWI-432SGL 1 SNA
.2 M0135 BH73-60304G RUBBER-SUPPORT;152X,SILICON,5*7,60#### 5 2 SNA
.2 M0081 6003-000275 SCREW-TAPTITE;BH,+,B,M3,L10,BLK ,SWCH101 2 SNA
.2 M0215 BN61-01219A SUPPORT-PANEL AU;GS17MS,MJ17BS ABS HB,T3 1 SNA
.2 T0376 BN96-01059B ASSY MISC P-SHIELD COVER;GS17VSVTIMS 1 SNA




7 Electrical Parts List

Level Loc. No. Code No. Description & Specification SA/SNA
.3 M0107 BN63-01211B SHIELD-COVER;GS17VS/VT/MS,SECC,T1.0 1 SNA
.3 M0412 BN63-01313A COVER-INSULATOR;MJ17,19AS/BS,PET,T0.35 1 SNA
.2 CccmL 6001-000125 SCREW-MACHINE;BH,+,M3,L4,ZPC(YEL),SM20C, 4 SNA
SA
1 BN91-00841E ASSY LCD-STZ;GS17ES 1 SNA
.2 M0215 BN07-00202A LCD-PANEL;LTM170EU-L21,GY,6BIT FRC,358.5 1 SA
SA
7-2 Others
Code No. Description & Specification SAISNA
.2 M0216 BN96-01063A ASSY STAND P-SIMPLE;MJ15/17ASBS,ABS HB,B 1 SA
.3 M0081 6003-000269 SCREW-TAPTITE;BH,+,S,M3,L6,ZPC(YEL),SWRC 2 SNA
.3 M0081 6003-001086 SCREW-TAPTITE;BH,+,B,M3,L12,ZPC(BLK),SWR 4 SNA
.3 STD BN61-00822A STAND-BRKT HINGE;GS17VS,SECC,T1.2 1 SNA
.3 T0063 BN61-00825A STAND-FRONT;GS17VS,ABS HB,BK07 1 SNA
.3 T0081 BN61-00826A STAND-REAR;GS17VS,ABS HB,BK07 1 SNA
.3 M0122 BN96-01061A ASSY MISC P-HINGE;MJ15-17AS/BS,ZNDC2 1 SNA
SA
1 M0002 BN90-00630S ASSY COVER REAR;GS17VS EDC 1 SNA
.2 M0081 6003-000337 SCREW-TAPTITE;BH,+,S,M4,L10,ZPC(BLK),SWR 4 SA
.2 M0013 BN96-01070A ASSY COVER P-REAR;GS17VS,ABS HB,BK07 1 SA
.3 MO0113 BN61-00377A BRACKET-VESA;GOYA19"(193V),SECC,T1.0 1 SNA
.3 MO0006 BN63-01216A COVER-REAR;GS17VS,ABS HB,BK07 1 SNA
1 M0001 BN90-00718A ASSY COVER FRONT;GS17ESKS/XSH 1 SNA
.2 M0081 6003-001086 SCREW-TAPTITE;BH,+,B,M3,L12,ZPC(BLK),SWR 2 SNA
.2 T0003 BN96-01802D ASSY COVER P-FRONT;GS17ES(S/M720NA),ABS 1 SA
.3 M0081 6003-000276 SCREW-TAPTITE;BH,+,B,M3,L10,ZPC(YEL),SWC 2 SNA
.3 CIF BN63-01747A COVER-DECORATION;GS17VS,ABS,T1.8,HB,GR70 1 SNA
.3 MO0112 BN63-01748A COVER-FRONT;GS17VS,ABS,T2.7,HB,GR70.- io 1 SNA
.3 MO0106 BN64-00139B KNOB POWER-FUNCTION;GY15VS,ABS+ PC 5V,BK 1 SA
.3 M0105 BN67-00074A LENS-LED;GOYA17"(173V),ACRYL,CLEAR 1 SNA
.3 MO0145 BN96-01851A ASSY BOARD P-FUNCTION;GS17ES,CT5000-3170 1 SA
SA
1 M0017 BN91-00836E ASSY CHASSIS-STZ,GS17ES XSF 1 SA
.2 M0174 BN44-00113A IP BOARD;MATISSE,1.5mA~3.0mA,6.1mA~7.3mA 1 SA
.2 M0107 BN61-01102C BRACKET-PCB;GS17ES,SECC,T1.0 1 SNA
1 M0019 BN92-00329Y ASSY LABEL;MJ/GS W/W 1 SNA
SA
1 MO0113 BN92-01301B ASSY PIMATERIAL;GS17ES 1 SNA
.2 T0376 6902-000379 BAG AIR;LDPE,T0.2,W1000,L1800,TRP,-,-- 0.032 SNA
.2 T0524 6902-000520 BAG PE;HDPE/NITRON(DOUBLE),T0.015/T0.5(D 1 SNA
.2 PIM 6902-000604 BAG WRAPPING;LDPE,T0.02,W500,L10000, TRP, 3 SNA
.2 M0081 6902-000609 BAG ROLL;LDPE,T0.05,W2400,L1000,TRP-,- 0.1 SNA
SA
1 M0003 BN92-01398B ASSY BOX;LS17GSEKS/EDC 1 SNA
.2 M0120 BH75-10529A UNIT-HANDLE PACKING;LXA410TLMU,PE,- WHIT 1 SNA
.3 M0103 BN72-60001A LEVER-TOP;LSD210TL,PE-LD,WHITE, TFT_LCD 1 SNA
.3 M0102 BN72-60002A LEVER-BOTTOM;LSD210TL,PE-LD,WHITE, TFT-LC 1 SNA
.2 M0006 BN69-00974B BOX-01;S/M720NA(GS17ES),CB-SW4,YEL A-1,W 1.02 SNA
SA
1 MO0045 BN92-01399B ASSY ACCESSORY;LS19GSEKS/EDC 1 SNA
.2 M0013 BN96-01461A ASSY STAND P-BASE;MATISSE15"/17",ABS HB, 1 SA

7-4



7 Electrical Parts List

Level Loc. No. Code No. Description & Specification SAISNA
.3 M0081 6003-000142 SCREW-TAPTITE;FH,+,B,M3,L8,ZPC(BLK),SWRC 6 SNA
.3 T0524 6902-000389 BAG PE;HDPE/NITRON/HDPE,T0.02/T0.5/T0.02 1 SNA
.3 MO0111 BN63-01489A COVER-STAND;MJ17,ABS HB,BK07 1 SNA
.3 STAND/BASE | BN63-01490A COVER-STAND BASE;MJ17,ABS HB,BK07 1 SNA
.3 CIs3 BN68-00473W MANUAL INSTALL;Goya2 Stand Guide,SyncMas 1 SNA
.3 M0126 BN73-00077A RUBBER-FOOT;MATISSE,BUMPON ##13.5,72.0,6 4 SNA
.3 CIs4 BN61-01435A HOLDER-STAND;CH,+,M4,110(4),ZPC(WHT),SWR 1 SNA
.2 M0045 BN96-02146H ASSY ACCESSORY;LS17GSEKS/EDC 1 SA
.3 T0268 3903-000085 CBF-POWER CORD;DT,US,BP3/YES,|(IEC C13/C 1 SA
.3 T0524 6902-000110 BAG PE;LDPE,T0.05,L.356,W240,TRP,28,2,PE 1 SNA
.3 ACCESSORY | BH68-70438A CARD-11,BLOC WARRANTY;TFT LCD,BASIC,EUM 1 SNA
.3 ACCESSORY | BH68-70448A CARD-0L,TFT LCD,SRC,RUSSIA,S/W,120,W210* 1 SNA
.3 M0215 BN96-01165K ASSY MANUAL P-IB+QSG;GS17ES, 720NA,SYNCM 1 SNA
A QUICK SETU | BH68-00376L MANUAL-04;LCDQUICK SETUP GUIDE,SYNCMASTE 1 SNA
LA 1B BN59-00423K S/W DRIVER-01,IB;GS17ES 720NAW/W,SYNCMA 1 SNA
LA MAGICTUNE | BN68-00847B MANUAL-02,QSG;MagicTune paper,SyncMaster 1 SNA
.3 ACCESSORY | 6902-000336 BAG ZIPPER;LDPE,T0.05,L80,W70,TRP,,,PE M 1 SNA
.3 ACCESSORY | BN64-00394A HANDLE-BRUSH;GS17ES,ABS,HB,BK07 1 SNA
.3 T0100 BN68-00844C MANUAL-WARRANTY CARD;LCD Anion Monitor,L 1 SNA

7-5



7 Electrical Parts List

Memo

7-6



